The Slip Slide Method of Factoring
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Objective: Factor the quadratic trinomial shown

6+ Sx-4

Multipy the coefcient of by the value of the constans term rse-2
and lerthis b the new conetant. Drop the coeficient o -

(Thats, replace the cocfficient with 1)

Factorthe new rrinomial. wr8)a-2)
Divide the constant in each binomial facto by the original (> 8/6)x-2/6)
cosffcient of 2.

‘Simplify reculing feactons, i pocsible. (s 3)x - 1/2)
1 cach binommisl actor, i the constant =  fscrion, make the (Grsa@e-1

denominstor of the fracron the cosficient o x and let the
numerator be the new constant.









